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الرياضيات 

  السؤال الأول:

 :ناتج الضرب في كل مما يأتيأجد 

①   3 × (−2𝑏) =

②   (−4𝑓)(−2𝑓2) =

③   2𝑥𝑦 × −3𝑥2𝑦 =

④   (𝑥 − 2)(𝑥 + 3) =

⑤  (4 − 𝑥)(2𝑥 − 𝑥2 + 1) =

  :الثانيالسؤال 

مما يأتي، ثم أجد قيمته عند القيم المعطاة:بسط كل مقدار جبري أ

①   3𝑥 − 4(𝑥 + 𝑦)                   𝑥 = 2   ,   𝑦 = −1

3𝑥 − 4𝑥 − 4𝑦
−𝑥 − 4𝑦

(1 × 2) − (4 × −1)
 2 −  −4 = 2 + 4 = 6 

②  − 5𝑚(𝑛 − 3𝑚)                𝑚 = −4   ,   𝑛 = 2

−5𝑚𝑛 + 15𝑚2

 (−5 × −4 × 2) + (15(−4)2)

= 40 + 240 = 280 
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الرياضيات 

  السؤال الأول:

 :ناتج الضرب في كل مما يأتيأجد 

① 3 × (−2𝑏) = −6𝑏

② (−4𝑓)(−2𝑓2) = 8𝑓3

③ 2𝑥𝑦 × −3𝑥2𝑦 = −6𝑥3𝑦2

④ (𝑥 − 2)(𝑥 + 3) = (𝑥. 𝑥) + (𝑥. 3) + (−2. 𝑥) + (−2.3)

 = 𝑥2 + 3𝑥 +  −2𝑥 +  −6 = 𝑥2 + 𝑥 − 6

⑤ (4 − 𝑥)(2𝑥 − 𝑥2 + 1) =

(4.2𝑥) + (4. −𝑥2) + (4.1) + (−𝑥. 2𝑥) + (−𝑥. −𝑥2) + (−𝑥. 1)

= 8𝑥 − 4𝑥2 + 4 − 2𝑥2 + 𝑥3 − 𝑥

= 𝑥3 − 6𝑥2 + 7𝑥 + 4

  :الثانيالسؤال 

مما يأتي، ثم أجد قيمته عند القيم المعطاة:بسط كل مقدار جبري أ

① 3𝑥 − 4(𝑥 + 𝑦)  𝑥 = 2   ,   𝑦 = −1 

3𝑥 − 4𝑥 − 4𝑦
−𝑥 − 4𝑦

(1 × 2) − (4 × −1)
     2 −  −4 = 2 + 4 = 6 

② − 5𝑚(𝑛 − 3𝑚)  𝑚 = −4   ,   𝑛 = 2 

−5𝑚𝑛 + 15𝑚2

 = (−5 × −4 × 2) + (15(−4)2)

= 40 + 240 = 280 




